113026

No. of Printed Pages : 16 ' : 6028

B
MNMEEAE

Ldle| eres
Register Number

PART - ITI
Suipifwed / PHYSICS -

(80D wHyid gymidle euyll / Tamil & English Versions)

Crrid : 3 wanfl ] [ Qwrgs waHlQueser : 150
Time Allowed : 3 Hours ] 7 [Maximum Marks : 150
Sifleyenr : (1) mass AarssEsd sfurs uHeurd o drersm aeisrﬂg,mm
sfluriggé Qsrerara)b. ssLLA D Gapul@HLier &mma;
sansreniliumerfli_id o L anquirss Qgfellssayid.
2 fob ooz s@HLY @olamear LG T(PGIUSHGLD,
23 &CaTq (HeugH@Gh LWaTLRSS Geuam(Hib. LILRISET cuapreugsne
Quenfled LwTURSF6LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
L& - I/PART - 1
GOy : Q) Svess NamsaErsEn el weléseib. 30x1=30
@ sfwrer denemws CoTBOSHES 6T(PSaLD.
Note : (i) Answer all the questions.

Choose and write the correct answer.
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Lellwen sighlm edflsaflariig (A+AB) eremp FwemLim() THHE&F FOW ?

(=) A (<) AB (@) B (") A
According to the laws of Boolean algebra, the expression (A+ AB) is equal to :
(@ A ®) AB (© B d A

Quemie arB\me b pears QubmETeTae :

(31) a- gis6rsar (=) B - gis6TSeET

(@) smwr sdiser - () yGrrirenger

The penetrating power is maximum for :
(@) - particles (b) B - particles

(c) gamma rays (d) protons

64 SAEMEHHSSHIFATEDETE GBI DEISSHMHEN6T Y Tib :

(1) 26 F (<) 52 F (@) 104 F - () 78F
The radius of the nucleus which contains 64 nucleons is : ,
(@) 26F (by 52F (c) 104 F (d 78F

B afler euaerw puiefer X SimaBeriperer gafluyb, 50 Os.8. euaeray
BT 2.6TeT HULSGatwensd LweaLBsgbCLrs SHaLésh 10-aug
SHEW UMETLSSET Tid /3 mm @Eh. 6s maBarsdd 2 m auameray
QTpETeT S L& @GelCens: Qmaﬁru@gﬁmrreb dlen_&@b 10-aug S(HenL
QUEETILISSET <Y ITLD :

(1) 3 mm (<) 2¢/3 mm (&) 33mm  (F) 43 mm
In Newton's ring experiment, when a wavelength of light A and a plano convex lens of
radius of curvature 50 cm is used, the radius of the 10t dark ring is \/3 mm. Then .

. with the same wavelength, a plano convex lens of radius of curvature 2 m is used, the

radius of the 10" dark ring is :

() 3 mm (b) 23 mm (© 33 mm (d) 43 mm
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soHg™® +X — oAUl + H! erémn igmisam olemarnid X CTETLIG| TGS
GN&GD ?

(=) yGrriimer (<o) eredLymen (@) fly e (/) g lpmes
In the nuclear reaction gHg!¥® +X — ., Aul% + H, X stands for :

(@) Proton (b) Electron (c) Neutron (d) Deutron

(T SOGAL] WREEL AM gpidude o el L eimaudwpduder 2 SH 6w eir
1.245 MHz eratflled @engey Qe L gedluriiy HlavawgHen oidieem :
(<51) 455 kHz (<2b) 790 kHz (@) 690 kHz () 990 kHz

In an AM superheterodyne receiver the local oscillator frequency is 1.245 MHz. The
tuned station frequency is :

(a) 455 kHz (b) 790 kHz (c) 690 kHz: (d) 990 kHz

9 Cavsir QeuefledBid gaflufier Himib :

(1) Lées gaf (<) Hauliy gaf
(@) wepgeT g (m) QoucTener gparfl
The colour of light emitted by ruby laser :

(@) Green light | (b) Red Light

(c) Yellow light (d) White light

HlerGCgédl w GG 2 omLw @m AC WearshHia, o bs6 e sanrd Sl el id
QeudL@b WenGarm_L_sHler goeun® i=1, sin (mt+ _g) erafled erpgGleumm
sagHid QeudL@SSILEDL Waeluss elamsssrar swamn) :

(1) e=E;sin ot () &= Ep sin (‘”t - %]

(@) e =E, sin ((ot + 5?“) () e=Eqsin (wt + g)

In an AC circuit containing only a capacitor the instantaneous current is given by the

equation i= I sin (wt + %J The instantaneous emf is given by the equation :

(a) e=E,sin ot (b) - e=Eg sin (mt _ %)
() e=Eqsin (wt + -561] | (d) e=Egsin (wt " %j
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e Qauliu BaralrleLle gelissdear Qastiufeme 20°C. @@uq
QeutiuBlena 270°C erafled Lyl B Qeutiuflevewrerg. ~
(1) 520°C (<) 540°C (@) 500C  (m) 510°C

In a thermocouple the temperature of the cold junction is 20°C, the neutral temperature
is 270°C. The temperature of inversion is :

(@) 520°C (b) 540°C (9 500°C (d) 510°C

fyran e ossle, yasdbe Qeamuns, &gm 2158 DALY G et
@@@GU)GUT EUSSLILIL_L Ted 3Gl &Qﬂﬂ'ﬂ'@.lg]

(=1) Owrsg ellengamw WL (HLb
(=) ALy Aeraanw L (HLbd

(8) Qurgs ellens wHMD HpLyelas @grmrem_uu)
(F) Qurgs elensujd de; HmLiy eN@sud e

A dipole is placed in a uniform electric field with its ax1s parallel to the field. It
experiences : :

(a) only a net force
(b) only a torque
(c) both a net force and torque

(d) neither a net force nor a torque

worBl LA BaGariL <araCard wuy SlaraCsrd elwsssmss
sT_(HGurg), @b WL LT are Card, GMLILE :
(1) Quepw e wigeled e
(<) Wpigeflad]
) &4
() Smiod pemmed &Ll @

In a multimeter, when the current scale shows full scale deﬂectlon, the ohmmeter scale
reads : .

(@) Maximum but not infinity
(b)  Infinity
() Zero

(d) Minimum but not zero
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60° e aflanarey Ga;rrm‘r‘e_is@ﬁr)‘asrrm geflafesd eramm :

(1) 1.732 () 1.414 (@) 1.5 (FF) 1.468
The refractive index of the medium for the polarising angle 60° is :
(@) 1.732 () 1.414 (¢ 15 . (d) 1.468

Qurer gerlen gefiflar QeueCubm < Hmed 6.626 x1071° T erafed Liwie
Qsm_bs o iQeudr:
(<) 1x10% Hz (24)10x10" P Hz (@) 1x10~® Hz (&) 10x10° Hz

The work function of a photoelectric material is 6.626 x 10~ 1°]. The threshold frequency
is:

(@ 1x101 Hz (b) 10x10"PHz (¢) 1x10"PHz (d) 10x10!° Hz

N- euang Garp&EsL S5l 2 drerane

(=1) Quissidlder eridler jwehser
(=) Siyiumenentn 2aITHEET ed@

(@) Qussfdoor Grrdler owelser

() BlemgieneraeT GLIHLLLITETEMLD é@[f’@&@h
In a N-type semiconductor, there are :

(a) immobile negative ions

(b) no minority carriers

(c) immobile positive ions

(d) holes as majority carriers

OITETHS HEDGEHET :
(<=1) GHEE®OEET S GLD
(<=1) G]‘r_r)l'_t_ma)asé'r_r 2GLD

(@) enssmasarraGeur dag CBLLmasarsGalr @)mEsmmD.

(FF) GNISEE®OSEHD ADE; G L @OSEHD 36w
Electromagnetic waves are :

(a) Transverse

(b) Longitudinal

() May be longitudinal or transverse

(d) Neither longitudinal nor transverse

[ H@Liys / Turn over
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17.
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Sigmiellé) ereslgranseien Bereul L ILITes SmeHaars sadwie :

(1) 1. smbFe (=) Cumrr (@) srwiCue® () 4 Qrmed
The elliptical orbits of electron in the atom were proposed by :

(@) J.J. Thomson (b) Bohr () Sommerfeld  (d) de Broglie

emgprL b Qupmerer 2 arefpn 2 Carsiiupg e, s Be osms
eriyeraflgeaficy Combmelsdma?

(<=1) Carersh@ QeuelCGu (<) @iger urldesr G

(@) Carergdem =1 (b | (F) @mwLiiE CsTeaesE SiLumd
A hollow metal ball carrying an electric charge produces no electric field at points :
(a) outside the sphere (b) on its surface

(c) inside the sphere (d) ata distance more than twice

Cgreae paadluflarnme igiliL Gouamg L SIF&iG &5 1,eMISMS LI GTETEATTE
LTHOHID peny :

(1) erdlG@ymafiiiy (<) euflGagarGarmrm_LLb

(8) uarCuppid () eafl myLImH

Printed documents to be transmitted by fax are converted into electrical signals by the
process of :

a) Reflection Scannin
g
C Modulation d) Light variation
g

@ADL TR Ja@imel g Hoouldmbg Harréflursss Csameuwrer
GOPHSLILE DD (gl (s HeTTESlunss INSET(PSS DO :
(=) 13.6 eV (=) 102 eV (@) 34 eV (/) 1.89 eV

The first excitation potential energy or the minimum energy required to excite the atom

from ground state of hydrogen atom is :

(@) 13.6 eV () 102 eV ( B34eVv  (d 189V
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Bl Qmpanamuien HHULSHDESTET HOES; :

(1) V/m () C/m (@) Vm () Cm
The unit of electric dipole moment is :
(a) V/m (b) C/m ) Vm (d Cm

Qrés Casransemwis sarLwuls LweTLHeug :

(1) 151)31 _ (<) 151332 (@) 26F959 () 11Na24
Anaemia can be diagnosed by : |
(@) 45P% (b) 5P (0) oFe™ (d) 1Na?

LWL - &TeuiL elHudler Fwemur( :

Idl T Idl sin6
dB=£o =2 =H
(1) ir 2 () dB =" =0
3.2
—  pp IdixY —  po IdIxT
dB = k0 dB = 2o
(8) y— (%) i 3

Idl T 1 Idl sin@
dp=Fo & )
(a‘) A r2 (b) d 4 1‘2
— 5 —
= i Idixr = po IdIxr
dB ="~ d) dB=-—
(c) ir 2 (d) 4 3

@@ sbQFsmaiier uryb HenGearmLib edanmigyse 40 A s~1 erenp eigsdled
wrob@urpg grartin®n Werallwése tlens 12 V erafley, swiNFasmefien
SeTLOl6T ST 60 GTEwT

(=1) 03 H (<) 0.003 H (@) 30H () 48 H

An emf of 12 V is induced when the current in the coil changes at the rate of 40 A s~ L.
The coefficient of self induction of the coil is :

(@) 03 H (b) 0.003 H () 30H d) 48H

[ iiys / Turn over
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24,

é{‘mm GTGWT GTELIG) :

(1) @@ afermquiled o (Heunr@ emasafier eramaisms
(=) @@ Bl Bergdled o drer oevasaflen eramaflsans
(@) 3x108 BLLii Barsled o e Simasafar craraisms
(F) N B BarsHled o drer Swaseier eramaisans

Wave number is :

(a) . number of waves produced in one second
. (b) number of waves in one meter length

25."

26.

(é) number of waves in 3 X 108 m length
(d) number of waves in X meter length

‘¢ elppen QararL cear_sidled eeussLILHeter @) LT L EIGEHHES
e Guwran edlans :

: € 919, 9 d1 92
(&) 7 2 () X107 =5
9 91 92 9x 10° qi 9
(@) 9% 10" =5= (W) — 2

The force between two charges situated in a medium of permittivity ‘¢’ is :

£ 919 9. 9192
(a) o ——rz (b)y 9x107¢g 2
o 9 91 92 9% 10° q; 9,
( ox1W0° =5 (d) e )

gafledlasd eram 1.5. 2 e w sawawmy urlQer g ealurang, @s5srs
aflpwGung, gaflelasd Carammb :

(=) 30° (<) sin~1 (0.666)

(@) s : () sin~1 (0.75)

A ray of light is incident normally on a glass surface of refractive index 1.5. The angle

of refraction is :
@ 30° () sin~1 (0.666)
(c) =zero (d) sin~1(0.75)
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Lwer Qsrss fiQeuamaniian, crasl rrasafiear fasGous :

(<) & (@) Qupod (@) Apod  (w) el
At the threshold frequency, the velocity of the electrons is :
(@) Zero (b) Maximum (c) Minimum (d) Infinite

Bergr Lhser eriiQummelear eu G erefgmasl umipbg Csoaid ?
(1) @eumie (<1,) @wssT (@) Qgr’rmrrévﬂu_nb (F) smblyd
The material through which electric charge can flow éasi]y is

(@) Quartz (b) Mica "(c) Germanium (d) Copper

Qaverev 6 6rhg ellHufen oiqliLenL ulemerg)?

(<=1) Oemaprt sjfleflemenio (=) umw o elemenio
(8) 2-ps <ufeflemeio (F) 2Hod fleflemanio
Lenz’s law is in accordance with the law of :

(a) Conservation of charges (b) Conservation of flux
(c) Conservation of momentum (d) Conservation of energy

5019 smeNed @MmBE UPEsHNIES WaGam L smg umus Qeliub wrpas
Besrafwhduden 2 miiyy.

(SB1) UDESTHSD (=) Demayu L GuaaTwiLD

(©) Bpey eueneTLIBISET (7)) grflevsser

The part of the AC generator that passes the current from the coil to the external
circuit is : '

(a) Field magnets : (b)  Split rings
(c) Slip rings (d) Brushes

[ slis / Turn over:
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L@ - 11/ PART - II

GO : craauCugyb Lflenesis eferéaensE elenLiuef. 15x3=45
Note : Answer any fifteen questions. ‘

31.

32.

33.

34.

35.

36.

- 37.

38.

(PEOETEETET (PSS MISET GTEIMTE) Taran? gt THSSETLH H([H.

What are polar molecules ? Give an example.

geaGarargd 3pF BarCss@sSnar GsTamL eperm  BenGosdaer
Ggm_fear 96 Gearssiiul (erarer. CarEuwe 0aCss@sSnear wng?

Three capacitors, each of capacitance 3pF are connected in series. What is the total

" capacitance of the combination ?

@uller allflanwis snms.
State Ohm's law.

BésLsgisdper Lamd Quiay QeuliLiflanad eueTwIy).

Define transition temperature in superconductivity.

0°C-& Wermiyeamd sbiQuiar Hergani 4 Q. lﬁan@mgsﬁm Wl g ent_
QeutiLiflenay erair 0.0038/°C erafleéd 100°C-cb &b uler el &retrs.

The resistance of a platinum wire at 0°C is 4 0. What will be the resistance of the wire
at 100°C if the temperature coefficient of resistance of platinum is 0.0038/°C.

FL lenerey eTemmmed cremen ?
What is Seebeck effect ?

g Lu L flaraflués elevsamiu o meumdE@nh (papseT Wireaney ?
What are the methods of producing induced emf ?

WiemompBlufler gy SHme aUENTIIN).

Define efficiency of a transformer.
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41.

42,

43,

44,

45.

46.

47.
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Lp easrs sglisefler Lweasaflad eraveuCGugnid epardleaner er(pgs.

Write any three uses of ultraviolet radiation.

gafleflese eran 3 2l 2an s gemler g seralaereypr geflimerg
serallanere|s Caranrslad LGWLCUTE e Caransmssd samsdHs.

The refractive index of the medium is /3. Calculate the angle of refraction if the
unpolarised light is incident on it at the polarising angle of the medium.

Gavgir Qewenats Qup Ceuanriquwr FlUbSMETHET WiTane ?

Write the conditions to achieve Laser action.

@bgly ugssdar siafsCarames @ CQeuall d=2.82 A. @L’.luqa;ggﬂeoméé
Qarar® wpse cuflenguiied samsdL i@ QL SoaBarsmss samrss(Hs.

Calculate the longest wavelength that can be analysed by a rocksalt crystal of spacing
d=2.82 A in the first order.

gafliflensaen eranpmad eTenan? geflllanaenseailen cuamssamerd GOILLAMS.

What is a photoelectric cell ? Mention the types of photoelectric cells.

sfflusss sy elHamws smmis.

State radioactive law of disintegration.

amoné sHrsear (v - sdliser) U seaild eraneuCugid epemdlenet 6T(LpgIs.

Write any three properties of y - rays (gamma rays).

Siewauwpiésrer LTQsargar (Barkhausen Criteria) HlUBSG@IS@ETE Fn)s.

Give the Barkhausen criteria for oscillations.

erdiibenar L G5Te eflenemd BHLILIGTSET WTenel ?

What are the advantages of negative feedback ?

[ &@piys / Turn over
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48. OQar@ssiiul L spher Qeualui® sremrs.

5K
‘ MW
10K
V]e—MWW____|
VoMWW | ‘ Vo .
10K '

Find the output of the given circuit.

5K
MW
10K
V] e— MW
Voo |
10K

49. Qe (Zener) pMleyfleney erammmed eremran ?
What is zener breakdown ?

50. QewpenssGaredr goeud QgmLider ‘r_r)emmmasaﬂev eTeneuGuiend @m@mm

TSI

Write any three merits of satellite communication.

L@ - I/ PART - III

GOy : () efenr erei 60-&@ SevnqLILTS ofanL_afEsailb. 7x5=35
(i) BSsaperer 11 elenrésafic GTGZS)QJ@UJ@]LD M NS EHES;
- el wefllEsayb. ‘
(i) GgeveuliBid QL rugefler LIL BT cuanys.
Note : ()  Answer question number 60 compulsorily.

(i) Answer any six of the remaining 11 questions.
(i) Draw diagrams wherever necessary. .

51. fyrenm emyosda mwé;a;ﬁuL@dTerr Bler @ waenuier 85 Qsudu@ibd
gmuy efessarer Cameneuenwits Qums.

Derive an expression for the torque acting on the electric dlpole when placed in a
uniform electric field.




52.

53.

54.

55.

56.

57.

58.

13 | 6028
\Slenenm(p e orafud e BEGIeuSDS LILSFIL 6 6NeréEs.

Explain the principle of a potentiometer with a neat diagram.

Buuy HasCaisd eramprd ereman? WenGearmLgHD@ b, @pliy Hana
Caiasdlsd Qe Guuerer Qar_ienL Qumis. ‘

What is drift velocity ? Derive the relation between drift velocity and current.

@ sréeaammSlL fen L6]6:6T§66;L 40 0. Qg 2 mA WaGarmL_sHHE wpp
elosmas QAsTREELD. Gsman 0-&Sl(mba& 20 V cuanyullarer Wlenen(psssS e
&G Gouredl 81 Lgrs GTEUGUT) LOTHMETD ?

A galvanometer has a resistance of 40 Q. It shows full scale deflection for a current of
2 mA. How will you convert the galvanometer into a voltmeter of range 0 to 20V ?

e® bar_ afFsmaier semner gram e eramanfipsrar Gareneuawits QLims. |

Derive an expression for the self inductance of a long solenoid.

Gurarmi@seier Lwasaia eraneuGugd gidleanar er(ps)s.

Mention any five uses of polaroids.

manL ryeafar finwroe aufamssamer eflensgs.
(uLib Cgemeuufdena)
Explain the spectral series of Hydrogen éxtqm.

(Diagram not necessary)

eTa&Lren BiaTCanradulen LweTsamenh GUIDL|EHENGTU|LD Gr@gjé;.

Write the uses and limitations of electron microscope.

[ Hliys / Turn over
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60.

61.

62.
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F156T getlan Hlenp igern @ulay Hlapmenuwis Guimay eemm LB erafld, GG
Quiigb HasCausbd wWrg ?

At what speed is a particle moving if the mass is equal to three times its rest mass ?

QareoQur@meilwud mLsHd Qmbg QupLUlL @ aabys garh
AL sHDE 15 Samzesmens meleamg. &Gg{GuwaﬁTm LSl ereIibL| epeTm
BBLsHDG 19 Amsejamers smAlamg. wrdfluler (Sample) cuwiamss
sTSS (Hs. Ty, = 5570 pem(hiser.

IENTNVE ||
20Catl Sigmisamedan Aamart il QHMED LHYLD R HEUSHBSSISEHESTE
QevewriiL) <ppmed < Hwenamnsd seamsdHs.
QsrRésiiul Deraraa;
e LCrmlLrafer flenm=1.007825 amu
By rreflen Hanp =1.008665 amu
,0Ca%0 sigmisamalan Hlanm =39.96259 amu

A piece of bone from an archaeological site is found to give a count rate of 15 counts
per minute. A similar sample of fresh bone gives a count rate of 19 counts per minute.

Calculate the age of the specimen. Given Ty, = 5570 years.

OR
Calculate the binding energy and binding energy per nucleon of ,;Ca%’ nucleus.
Given : »
mass of 1 proton=1.007825 amu - ’

mass of 1 neutron=1.008665 amu
mass of 20Ca40 nucleus =39.96259 amu

@ 1y rradlavfen arCanm L QL(pSS eramseT o wHmiID B eever UG,
Gugid QeupdpderL Cuiujerer Qgriren Fmed. -

Define current amplification factors a and B of a transistor. Obtain the relation between
them. '

é{:ﬁr'r@meﬁur uarGupp CruCwr emeouriniulea Qswdurligemer
SLLLULL gL 6 ollendEs.

Explain the function of a Frequency modulated radio transmitter with a block diagram.
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u@d) - IV/ PART - IV

GO0y : ()  aemeuCuignid BresiE allamésenée alflarar eflan welssaib.

N : . . 4x10=40
() Gsaeuiu@b QLiisefd UL kisamer UGS, X

Note: (i) Answer any four questions in detail.

63.

64.

65.

(i) Draw diagrams wherever necessary.

Qaoarss (G BaCss800 5. 0ssers8mLCw Bemsriigs Quimmer
e aterGurg ghu@ b WerCes@s dpaysarar Csreneue il Qumys.
BenCasfufer LwiTLTHs@aT (PSS,

Derive an expression for the capacitance of a parallel plate capacitor with a dielectric
medium between the plates. Write the applications of capacitors.

BenGanrii b uruyh Q@ Correr baw_ Qeenss_s8sEndE QLG
THUOL lensssrar Caraeiamuil Qums. Cuaib < Quey (ampere)
GUEDTILIM).

Obtain an expression for the force between two long parallel current carrying conductors
and also define ‘ampere’.

wrndams Wearalwuse s apaid @ary GsTLir @QeewiiGd o drer

SenganL_wiréd (R), ilemgnariy. (L), wpmitd e Ceéd) (C) 2pdweudmi_eir

Qaanssiiu Qeterg. Qeusi euenyLLib oo BlerQardiiiy eueruLib

QSweiheans Qsrear(p

@) GsrEuwer Werar(pssid

(i) BenCand iy

(i) WerGarmii_ib whHmyid Weranpssd Qe Guiwrear SLLG GgmLiy
S fueupmsstar soaTLT{Emen au(med. ’

A source of alternating emf is connected to a series combination of a resistor R, an
inductor L and a capacitor C. Obtain with the help of vector diagram and impedance
diagram, an expression for : ‘

(i)  The effective voltage A
(ii) The impedance

(i) The phase relationship between the current and the voltage

[ HBLigs / Tum over
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66. @nmoer gef&flgneame < Hmed WL IULSSIL 6 elaréEs.
Explain the Raman scattering of light with the help of energy level diagram.

67. eraslyraflen Weran L Hleonssse| sramid .. gnbser Cargmaeneni adeul.

Describe J.J. Thomson’s experiment for the determination of specific charge of an electron.

68. SIGES(H 2O GTETLIF WITH ? ASMISH L aaufler :
(i) sewfliuren (Moderator)
(ii) sLOUUBSSID Feam(h&er (Control rods) .
) Byl gren erdlaymafiiiumanser (Neutron Reflectors) <pAwieub e

Qe el eNaTEEs. Daésm e mauiar Luasamer GHLGHS.
(L Cseveuufdena) ’
What is a nuclear reactor ? Explain the functions of :
(i) Moderator
(i) Control rods and
| (iii) Neutron reflectors.

Mention the uses of nuclear reactor (Diagram not necessary).

69. Qgaefleuren ul_g;g LG0T &FLOGIT &mg <l mss (Bridge Rectifier) Qewcihgama
eflaufl. soer ahn dasHmsdHuden 2 aaf® wHmb Ceuallui® msmasmen
UGS,

With a neat diagram, explam the Workmg of a Bridge Rectifier. Draw its input and
output signals.

-

70. simeeiFaL um@ummgﬁm L@GLUUTLeme cgqﬁrr@euem Bimioreneu|L e
NeT&EGS.

Explain the analysis of amplitude modulated wave with frequency spectrum.

-00o0-




